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HONORS - Synthetic Polynomial Division Notes
Last week we used Long Division to find the quotient between two polynomials. Another method that we can use is

called Synthetic Division.

Synthetic Division (for a Cubic Polynomial)
To divide ax® + bx? + cx + d by x — k, use the following pattern.

k @ ¢ d <—Coefficients of dividend

& OO
@ O O @<—Rcmainder

| T
Coefficients of quotient

Vertical pattern: Add terms in columns.
Diagonal pattern: Multiply results by k.
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Use synthetic division to determine if the linear binomial is a factor of the polynomial. Explain how you’ve made your
decision.
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